MW-98D

................................................. — OT-UeC [ (1T 9T-uer

Gg:0T [GT/L2/T Helsay walshs

S o g s g g g g S m._nlc.mhz

||||||||||||||||||||||||||| T T T LT T A m.ﬁlcmq

T GG /0 vT/TT/8 umopinys waxsskgT T T T T T T T 17 T 1717 T 7|7 7 5910 #T/TT/8 umopinys waisAs |
T T oot vr/avdntesSoz-mo | T T T T T T 1T T T T T T Tovet vl dnHeIs 0 m3 T

] il ik Sttt — v1-uer
1215189 umopinys |

o - = == = = =] LTI vI-uer e ey ey i

9G:2T €T1/G2/TT MWeIS 1Sa L umopinys 1l 9G:2T £T/

53]
Al
Ll
—
—
)

................................................. — €T-UBL  friq-t-t-q--q----p------t{4-p4-{--F--p---t------ - €T-Uer

........................................ - ozruer b b= TTeuEr

<
S < w
FOQ
=29
RESRESNE

................................................. - TT-uer Al

Key:

................................................. L OT-UBL |t oo OT-UBL

................................................. - 60-UBL  frid-t-t-q--q--=-F-----={1q4-F_-1--F--F---1------}- 60-UBl

80-uerl 80-uer

O O

(71/6n) uonenuadsuo) (7/6n) uoneNUIIUOD

@ © <
o

0.01



